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Brief Talk on Industrial Index of Karst Stack Type Bauxite Deposit in Pingguo

LI Qian — han ZENG De — qi
Pingguo Aluminium Company Guangxi Province 531400 China

Abstract Karst stack type bauxite deposit is a new type bauxite deposit in China
and its industrial index is formulated during geologic exploration without being
checked by production run. This article analyzes the geologic specialities of karst
stack type bauxite and the requirement for bauxite quality according to technologi-
cal condition in Bayer process  gives some opinions on exchanging and exploring
industrial index which connected with mining dressing document and production
cost of bauxite mine during recent years.
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